

$$y = a(x+1)^2 + q \xrightarrow{(3,1)} a(4)^2 + q = 1 \Rightarrow 16a = -1 \Rightarrow a = -\frac{1}{16}$$

$$y = -\frac{1}{16}(x+1)^2 + q \Rightarrow -\frac{1}{16}x^2 - \frac{1}{16}x + q - \frac{1}{16} \rightarrow y = -\frac{1}{16}x^2 - \frac{1}{16}x + \frac{1}{4}$$

۱

$$S > 0 \rightarrow \frac{-m}{V} > 0 \rightarrow \frac{m}{V} < 0 \rightarrow m < 0 \quad (1) \quad , \quad P > 0 \rightarrow \frac{m+P}{V} > 0 \rightarrow m+P > 0 \rightarrow m > -P \quad (2)$$

$$(3) \Delta > 0 \rightarrow m^2 - 12m - 48 > 0 \rightarrow m^2 - 12m - 48 = 0 \rightarrow (m-12)(m+4) = 0 \rightarrow \frac{-4}{+6} \quad \frac{12}{-6} \quad +$$

$$\hookrightarrow (-\infty, -4) \cup (12, +\infty)$$

۲

$$(1), (2), (3) \rightarrow \boxed{I \cdot f = (-4, -4)}$$

$$\frac{-b}{a} = \frac{a}{c} \rightarrow a^2 = -bc \rightarrow a = (1-2m)(2-m) \rightarrow a = 2m^2 - 2m + 2$$

$$\rightarrow 2m^2 - 2m - V = 0 \rightarrow m_1, m_2 = \frac{2 \pm \sqrt{41}}{4} \quad \left\{ \begin{array}{l} m_1 = \frac{14}{4} = \frac{7}{2} \\ m_2 = -1 \end{array} \right. \rightarrow \text{چون } \Delta \text{ منفی است}$$

۳

$$x^2 - 12x + 1 = 0 \rightarrow x_1 + x_2 = 12, \quad x_1 x_2 = 1 \quad \left\{ \begin{array}{l} x^2 - 12x + 1 = 0 \\ x^2 - 12x + 1 = 0 \end{array} \right. \quad \checkmark$$

$$P = (x_2^3 + \frac{1}{x_1^3})(x_1^3 + \frac{1}{x_2^3}) = (x_2^3 + \frac{1}{x_2^3}) + \frac{1}{x_1^3} + \frac{1}{x_2^3} = -12 + 12 = 0$$

$$(1) x_1^3 + x_2^3 = (x_1 + x_2)^3 - 3x_1 x_2 (x_1 + x_2) = 12^3 - 3(1)(12) = 144$$

$$S = x_1^3 + \frac{1}{x_1^3} + x_2^3 + \frac{1}{x_2^3} = \frac{x_1^3 + x_2^3}{x_1 x_2} + \frac{1}{x_1 x_2} = \frac{144}{1} + 1 = 145$$

۴

$$x^3 + \sqrt{x} - \sqrt[3]{x} - \frac{1}{\sqrt{x}} = 0 \rightarrow x^3 + \sqrt{x} - \sqrt[3]{x} - \frac{1}{\sqrt{x}} = 0 \rightarrow x^3 + \sqrt{x} - \sqrt[3]{x} - \frac{1}{\sqrt{x}} = 0$$

$$\xrightarrow{\sqrt{x}} x^2 - 1 - 2x = 0 \rightarrow \frac{2 \pm \sqrt{41}}{2} \rightarrow \begin{array}{l} 1 + \sqrt{2} \\ 1 - \sqrt{2} \end{array} \quad \frac{1 + \sqrt{2} + 1 - \sqrt{2}}{2} = 1$$

۵

$$x_1 = \frac{1}{p} x_2, \quad \frac{1}{p} x_2 \propto x_2 \Rightarrow \frac{1}{p} x_2 = \frac{f}{p} x_2 = \frac{f}{q} \rightarrow x_2 = \frac{f}{p} \rightarrow x_1 = \frac{f}{p} \rightarrow x_1 = \frac{f}{p} \rightarrow x_1 = \frac{f}{p}, a = \frac{1}{p}$$

$$x_1 - (-1) = 14$$

$$x_2 = \frac{f}{p} \rightarrow x_1 = -\frac{f}{p} \rightarrow x_1 = -\frac{f}{p} \rightarrow x_1 = -\frac{f}{p}, a = \frac{1}{p}$$

$$y = a x^2 + (x + x a) x \quad a > 0$$

$$p = 0 \rightarrow \lim_{x \rightarrow 0} \frac{y}{x} = 0 \rightarrow \lim_{x \rightarrow 0} \frac{y}{x} = 0 \rightarrow \lim_{x \rightarrow 0} \frac{y}{x} = 0$$

$$\lim_{x \rightarrow 0} \frac{y}{x} = 0 \rightarrow \lim_{x \rightarrow 0} \frac{y}{x} = 0 \rightarrow \lim_{x \rightarrow 0} \frac{y}{x} = 0$$

$$\lim_{x \rightarrow 0} \frac{y}{x} = 0 \rightarrow \lim_{x \rightarrow 0} \frac{y}{x} = 0 \rightarrow \lim_{x \rightarrow 0} \frac{y}{x} = 0$$

$$\frac{-b}{x a} \rightarrow \frac{y}{-x} = \frac{-a}{x} \rightarrow a = x \quad a b = x \times f = 1$$

$$y = 1 \rightarrow x^2 + x a + 1 - b = x^2 + x a - x \Rightarrow b = f$$

$$x a x^2 + a x - y = 0 \quad x_1, x_2 \rightarrow x_1 + x_2 = \frac{-a}{x a} = \frac{-1}{x}$$

$$x a x^2 - a x + b = 0 \rightarrow (x_1 + 1/a); (x_2 + 1/a)$$

$$S = x_1 + x_2 + 1 = \frac{1}{x} = \frac{a}{x} \rightarrow a = 1 \rightarrow x^2 + x - y = 0 \rightarrow \frac{-1 \pm \sqrt{1+4y}}{2} \rightarrow y = -\frac{1}{4} \rightarrow b = -\frac{1}{4}$$

$$\left[ \frac{a b}{f} \right] = \left[ \frac{-\frac{1}{4}}{f} \right] \rightarrow -\frac{1}{4}$$

$$x^2 - 4x + m = 0 \quad \alpha, \beta$$

$$x^2 - 2x - 3m = 0 \quad \alpha, \beta'$$

$$\alpha + \beta = -4, \quad (\alpha - 1) + \beta' = 2$$

$$\alpha + \beta = -4$$

$$-\alpha + \beta' = 2$$

$$\beta - \beta' = -6$$